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問　1
1）

2）

問　2
1）

2）

3）

4）

𝒙𝟑 − 𝒙𝟐𝒚 − 𝒙𝒛𝟐 + 𝒚𝒛𝟐

= 𝒙𝟐 𝒙 − 𝒚 − 𝒛𝟐 𝒙 − 𝒚

= (𝒙𝟐 − 𝒛𝟐) 𝒙 − 𝒚
= (𝒙 + 𝒛)(𝒙 − 𝒛)(𝒙 − 𝒚)

𝟐𝒙𝟐 + 𝟔𝒚𝟐 − 𝒛𝟐 + 𝟕𝒙𝒚 − 𝒚𝒛 − 𝒙𝒛

= 𝟐𝒙𝟐 + 𝟕𝒙𝒚 − 𝒙𝒛 + 𝟔𝒚𝟐 − 𝒚𝒛 − 𝒛𝟐

= 𝟐𝒙𝟐 + 𝟕𝒚 − 𝒛 𝒙 + 𝟐𝒚 − 𝒛 𝟑𝒚 + 𝒛
= (𝒙 + 𝟐𝒚 − 𝒛)(𝟐𝒙 + 𝟑𝒚 + 𝒛)

𝟐𝒙𝟐 + 𝟓𝒙 = 𝟑
𝒙 + 𝟑 𝟐𝒙 − 𝟏 = 𝟎

∴ 𝒙 =
𝟏

𝟐
, −𝟑

𝟐𝒙 + 𝟏 < 𝒙 − 𝟑 ≦ 𝟑𝒙 + 𝟕
𝟐𝒙 + 𝟏 < 𝒙 − 𝟑

𝒙 < −𝟒
−𝟐𝒙 ≦ 𝟏𝟎
𝒙 ≧ −𝟓

∴ −𝟓 ≦ 𝒙 < −𝟒

𝒙𝟐 + 𝟐𝒙 − 𝟑 < 𝟎
𝒙 + 𝟑 𝒙 − 𝟏 < 𝟎

∴ −𝟑 < 𝒙 < 𝟏

ȁ𝒙 + ȁ𝟏 + ȁ𝒙 − ȁ𝟑 > 𝟒𝒙 + 𝟑

𝒊) 𝒙 < −𝟏のとき

− 𝒙 + 𝟏 − 𝒙 − 𝟑 > 𝟒𝒙 + 𝟑

−𝟐𝒙 + 𝟐 > 𝟒𝒙 + 𝟑
−𝟔𝒙 > 𝟏

𝒙 < −
𝟏

𝟔

よって𝒙 < −𝟏

𝒊𝒊) − 𝟏 ≦ 𝒙 < 𝟑のとき
𝒙 + 𝟏 − 𝒙 − 𝟑 > 𝟒𝒙 + 𝟑
−𝟒𝒙 > 𝟑 − 𝟒

𝒙 <
𝟏

𝟒
よって−𝟏 ≦ 𝒙 <

𝟏

𝟒

𝒊𝒊𝒊) 𝒙 ≧ 𝟑のとき

𝒙 + 𝟏 + 𝒙 − 𝟑 > 𝟒𝒙 + 𝟑
𝟐𝒙 − 𝟐 > 𝟒𝒙 + 𝟑
−𝟐𝒙 > 𝟓

𝒙 < −
𝟓

𝟐

不適切

∴ 𝒙 <
𝟏

𝟒

1 𝟐𝒚 − 𝒛

2 𝟑𝒚 + 𝒛



問　3
1）

2）

問　4
1）

2）

3）

𝒚 = 𝒂 𝒙 − 𝟐 ∙ 𝒙 とおく

点 𝟑 ∙ 𝟑 を通るので
𝟑 = 𝒂 𝟑 − 𝟐 ∙ 𝟑
𝒂 = 𝟏
∴ 𝒚 = 𝒙(𝒙 − 𝟐)

𝒚 = 𝒙𝟐 − 𝟐𝒙

𝒚 = (𝒙 − 𝟏)𝟐−𝟏

最小値 𝒙 = 𝟏のとき−𝟏

最大値 𝒙 = −𝟐のとき 𝟖

𝑺 =
𝟏

𝟐
× 𝟒 × 𝟔 × 𝒔𝒊𝒏𝟔𝟎°

= 𝟔 𝟑

Ａ． 𝟔 𝟑𝒄𝒎𝟐

６０°

６

４

A

B C

𝑨𝑪𝟐 = 𝟒𝟐 + 𝟔𝟐 − 𝟐 ∙ 𝟒 ∙ 𝟔 ∙
𝟏

𝟐
= 𝟏𝟔 + 𝟑𝟔 − 𝟐𝟒
= 𝟐𝟖

𝑨𝑪 > 𝟎より

𝑨𝑪 = 𝟐 𝟕

∴ 𝟐 𝟕𝒄𝒎

𝑨𝑪

𝒔𝒊𝒏𝟔𝟎°
=
𝟐 𝟕

𝟑
𝟐

=
𝟒 𝟕

𝟑
=
𝟒

𝟑
𝟐𝟏

=
𝟒

𝟑
𝟐𝟏 𝒄𝒎


